

**PERTURBED TRAPEZOID TYPE INEQUALITIES FOR
ISOTONIC FUNCTIONALS AND FUNCTIONS OF BOUNDED
VARIATION WITH APPLICATIONS**

S. S. DRAGOMIR^{1,2}

ABSTRACT. In this paper we obtain some perturbed trapezoid inequality for normalized isotonic linear functionals and various classes of functions such as: functions of bounded variation, (δ, Δ) -Lipschitzian functions and convex functions. Applications for some particular functions of interest are also provided.

1. INTRODUCTION

Let L be a *linear class* of real-valued functions $g : E \rightarrow \mathbb{R}$ having the properties

(L1) $f, g \in L$ imply $(\alpha f + \beta g) \in L$ for all $\alpha, \beta \in \mathbb{R}$;

(L2) $\mathbf{1} \in L$, i.e., if $f_0(t) = 1, t \in E$ then $f_0 \in L$.

An *isotonic linear functional* $A : L \rightarrow \mathbb{R}$ is a functional satisfying

(A1) $A(\alpha f + \beta g) = \alpha A(f) + \beta A(g)$ for all $f, g \in L$ and $\alpha, \beta \in \mathbb{R}$.

(A2) If $f \in L$ and $f \geq 0$, then $A(f) \geq 0$.

The mapping A is said to be *normalised* if

(A3) $A(\mathbf{1}) = 1$.

Isotonic, that is, order-preserving, linear functionals are natural objects in analysis which enjoy a number of convenient properties. Thus, they provide, for example, Jessen's inequality, which is a functional form of Jensen's inequality (see [2], [22] and [23]). For other inequalities for isotonic functionals see [1], [3]-[19] and [24]-[26].

We note that common examples of such isotonic linear functionals A are given by

$$A(g) = \int_E g d\mu \text{ or } A(g) = \sum_{k \in E} p_k g_k,$$

where μ is a positive measure on E in the first case and E is a subset of the natural numbers \mathbb{N} , in the second ($p_k \geq 0, k \in E$).

For a function $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ of bounded variation and $f : E \rightarrow [m, M]$, we define

$$\bigvee_m^f(\phi)(s) := \bigvee_m^{f(s)}(\phi) \text{ for } s \in E.$$

In the recent paper [14], we obtained the following trapezoid type inequality for functions of bounded variation and isotonic functionals:

1991 *Mathematics Subject Classification.* 26D15; 26D10.

Key words and phrases. Trapezoid Inequality, Functions of bounded variation, Lipschitzian functions, Convex functions, Isotonic linear functionals, Logarithmic function, Power function.

Theorem 1. Let $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a function of bounded variation and $f : E \rightarrow [m, M]$ such that $\phi \circ f$, f , $\check{\bigvee}_m^f(\phi)$, $(M - f)\check{\bigvee}_m^f(\phi)$, $(f - m)\check{\bigvee}_f^M(\phi) \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then

$$(1.1) \quad \left| \frac{M - A(f)}{M - m} \phi(m) + \frac{A(f) - m}{M - m} \phi(M) - A(\phi \circ f) \right| \\ \leq \frac{M - A(f)}{M - m} A \left(\check{\bigvee}_m^f(\phi) \right) + \frac{A(f) - m}{M - m} A \left(\check{\bigvee}_f^M(\phi) \right) \\ \leq \begin{cases} \left[\frac{1}{2} + \left| \frac{A(f) - \frac{m+M}{2}}{M - m} \right| \right] \check{\bigvee}_m^M(\phi), \\ \left[\left(\frac{M - A(f)}{M - m} \right)^p + \left(\frac{A(f) - m}{M - m} \right)^p \right]^{1/p} \\ \times \left[\left(\frac{A \left(\check{\bigvee}_m^f(\phi) \right)}{M - m} \right)^q + \left(\frac{A \left(\check{\bigvee}_f^M(\phi) \right)}{M - m} \right)^q \right]^{1/q} \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \frac{1}{2} \left[\check{\bigvee}_m^M(\phi) + \left| A \left(\check{\bigvee}_m^f(\phi) \right) - A \left(\check{\bigvee}_f^M(\phi) \right) \right| \right]. \end{cases}$$

Let $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a function of bounded variation and $e : E \rightarrow [m, M]$ such that $\phi \circ e$, e , $\check{\bigvee}_m^e(\phi)$, $(M - e)\check{\bigvee}_m^e(\phi)$, $(e - m)\check{\bigvee}_e^M(\phi) \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional with $A(e) = \frac{m+M}{2}$, then

$$(1.2) \quad \left| \frac{\phi(m) + \phi(M)}{2} - A(\phi \circ e) \right| \leq \frac{1}{2} \check{\bigvee}_m^M(\phi).$$

The constant $\frac{1}{2}$ in the right hand side of (1.2) is best possible.

The following lemma may be stated (see also [9]).

Lemma 1. Let $u : [m, M] \rightarrow \mathbb{R}$ and $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$. The following statements are equivalent:

- (i) The function $u - \frac{\delta + \Delta}{2} \ell$, where $\ell(t) = t$, $t \in [m, M]$ is $\frac{1}{2}(\Delta - \delta)$ -Lipschitzian;
- (ii) We have the inequality:

$$(1.3) \quad \delta \leq \frac{u(t) - u(s)}{t - s} \leq \Delta \quad \text{for each } t, s \in [m, M] \text{ with } t \neq s.$$

- (iii) We have the inequality:

$$(1.4) \quad \delta(t - s) \leq u(t) - u(s) \leq \Delta(t - s) \quad \text{for each } t, s \in [m, M] \text{ with } t > s.$$

Following [21], we can introduce the concept:

Definition 1. The function $u : [m, M] \rightarrow \mathbb{R}$ that satisfies one of the equivalent conditions (i) – (iii) is said to be (δ, Δ) -Lipschitzian on $[m, M]$.

Notice that in [21], the definition was introduced on utilising the statement (iii) and only the equivalence "(i) \iff (iii)" was considered.

Utilising Lagrange's mean value theorem, we can state the following result that provides practical examples of (δ, Δ) -Lipschitzian functions:

Proposition 1. *Let $u : [m, M] \rightarrow \mathbb{R}$ be continuous on $[m, M]$ and differentiable on $[m, M]$. If*

$$-\infty < \delta = \inf_{t \in (m, M)} u'(t), \quad \sup_{t \in (m, M)} u'(t) = \Delta < \infty,$$

then u is (Δ, δ) -Lipschitzian on $[m, M]$.

We have the following result for (Δ, δ) -Lipschitzian functions on $[m, M]$, [14]:

Corollary 1. *Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is (Δ, δ) -Lipschitzian on $[m, M]$ for some $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$. Then*

$$(1.5) \quad \left| \frac{M - A(f)}{M - m} \phi(m) + \frac{A(f) - m}{M - m} \phi(M) - A(\phi \circ f) \right| \\ \leq \frac{\Phi - \delta}{M - m} A[(M - f)(f - m)] \leq \frac{\Phi - \delta}{M - m} (M - A(f))(A(f) - m) \\ \leq \frac{1}{4} (M - m) (\Phi - \delta),$$

If $e : E \rightarrow [m, M]$ is such that $\phi \circ e, e, e^2 \in L$ and $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional with $A(e) = \frac{m+M}{2}$, then

$$(1.6) \quad \left| \frac{\phi(m) + \phi(M)}{2} - A(\phi \circ e) \right| \leq \frac{\Phi - \delta}{M - m} A[(M - e)(e - m)] \\ \leq \frac{1}{4} (M - m) (\Phi - \delta),$$

provided that $\phi : [m, M] \rightarrow \mathbb{R}$ is (Δ, δ) -Lipschitzian on $[m, M]$ for some $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$.

If $\phi : [m, M] \rightarrow \mathbb{R}$ is convex and $\phi_+(m), \phi_-(M)$ are finite, then by (1.5) we obtain the following reverse of Beesack-Pečarić result established in [18]

$$(1.7) \quad 0 \leq \frac{M - A(f)}{M - m} \phi(m) + \frac{A(f) - m}{M - m} \phi(M) - A(\phi \circ f) \\ \leq \frac{\phi_-(M) - \phi_+(m)}{M - m} A[(M - f)(f - m)] \\ \leq \frac{\phi_-(M) - \phi_+(m)}{M - m} (M - A(f))(A(f) - m) \\ \leq \frac{1}{4} (M - m) (\phi_-(M) - \phi_+(m)),$$

provided that $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional and $f, f^2, \phi \circ f \in L$. This inequality was obtained for the discrete case in 2008, see [10, Proposition 8.2].

2. SOME PRELIMINARY FACTS

We start with the following representation result:

Lemma 2. Let $\phi : [m, M] \rightarrow \mathbb{R}$ be a function of bounded variation on $[m, M]$. Then for any $x \in [m, M]$ and $\lambda \in \mathbb{R}$, $\delta, \gamma \in \mathbb{R}$ we have

$$(2.1) \quad \phi(x) = (1 - \lambda)\phi(m) + \lambda\phi(M) + (1 - \lambda)(x - m)\delta - \lambda(M - x)\gamma \\ + R_\lambda(x, m, M; \delta, \gamma),$$

where the remainder $R_\lambda(x, m, M; \delta, \gamma)$ is given by

$$(2.2) \quad R_\lambda(x, m, M; \delta, \gamma) := (1 - \lambda) \int_m^x d(\phi(s) - \delta\ell(s)) + \lambda \int_x^M d(\gamma\ell(s) - \phi(s)),$$

while ℓ is the identity function on $[m, M]$, namely $\ell(s) = s$, $s \in [m, M]$.

Proof. Since $\phi : [m, M] \rightarrow \mathbb{R}$ is a function of bounded variation on $[m, M]$, then for any $x \in [m, M]$ the Riemann-Stieltjes integrals

$$\int_m^x d(\phi(s) - \delta\ell(s)) \quad \text{and} \quad \int_x^M d(\gamma\ell(s) - \phi(s))$$

exist and we have

$$\int_m^x d(\phi(s) - \delta\ell(s)) = \phi(x) - \delta\ell(x) - [\phi(m) - \delta\ell(m)]$$

and

$$\int_x^M d(\gamma\ell(s) - \phi(s)) = \gamma\ell(M) - \phi(M) - [\gamma\ell(x) - \phi(x)].$$

Therefore

$$(2.3) \quad R_\lambda(x, m, M; \delta, \gamma) \\ = (1 - \lambda) \int_m^x d(\phi(s) - \delta\ell(s)) + \lambda \int_x^M d(\gamma\ell(s) - \phi(s)) \\ = (1 - \lambda)(\phi(x) - \delta\ell(x) - [\phi(m) - \delta\ell(m)]) \\ + \lambda(\gamma\ell(M) - \phi(M) - [\gamma\ell(x) - \phi(x)]) \\ = (1 - \lambda)(\phi(x) - \phi(m) - \delta(x - m)) + \lambda(\gamma(M - x) - \phi(M) + \phi(x)) \\ = (1 - \lambda)\phi(x) - (1 - \lambda)\phi(m) - (1 - \lambda)(x - m)\delta \\ - \lambda\phi(M) + \lambda\phi(x) + \lambda(M - x)\gamma \\ = \phi(x) - (1 - \lambda)\phi(m) - \lambda\phi(M) - (1 - \lambda)(x - m)\delta + \lambda(M - x)\gamma,$$

which is clearly equivalent to (2.1). \square

Corollary 2. Let $\phi : [m, M] \rightarrow \mathbb{R}$ be a function of bounded variation on $[m, M]$. Then for any $x \in [m, M]$ and $\delta, \gamma \in \mathbb{R}$ we have

$$(2.4) \quad \phi(x) = \frac{1}{M - m} [(M - x)\phi(m) + (x - m)\phi(M)] \\ + \frac{(M - x)(x - m)}{M - m} (\delta - \gamma) + R_1(x, m, M; \delta, \gamma),$$

where the remainder $R_1(x, m, M; \delta, \gamma)$ is given by

$$(2.5) \quad R_1(x, m, M; \delta, \gamma) := \frac{M-x}{M-m} \int_m^x d(\phi(s) - \delta \ell(s)) \\ + \frac{x-m}{M-m} \int_x^M d(\gamma \ell(s) - \phi(s)).$$

Alternatively, we have

$$(2.6) \quad \phi(x) = \frac{1}{M-m} [(x-m)\phi(m) + (M-x)\phi(M)] \\ + \frac{1}{M-m} [(x-m)^2\delta - (M-x)^2\gamma] + R_2(x, m, M; \delta, \gamma),$$

where the remainder $R_2(x, m, M; \delta, \gamma)$ is given by

$$(2.7) \quad R_2(x, m, M; \delta, \gamma) := \frac{x-m}{M-m} \int_m^x d(\phi(s) - \delta \ell(s)) \\ + \frac{M-x}{M-m} \int_x^M d(\gamma \ell(s) - \phi(s)).$$

Proof. Follows by Lemma 2 on taking $\lambda = \frac{x-m}{M-m}$ and $\lambda = \frac{M-x}{M-m}$, respectively. \square

The following particular case is of interest as well:

Corollary 3. *Let $\phi : [m, M] \rightarrow \mathbb{R}$ be a function of bounded variation on $[m, M]$. Then for any $\lambda \in [0, 1]$ and $\delta, \gamma \in \mathbb{R}$ we have*

$$(2.8) \quad \phi((1-\lambda)m + \lambda M) = (1-\lambda)\phi(m) + \lambda\phi(M) + (1-\lambda)\lambda(M-m)(\delta - \gamma) \\ + R_{1,\lambda}(m, M; \delta, \gamma),$$

where the remainder $R_{1,\lambda}(m, M; \delta, \gamma)$ is given by

$$(2.9) \quad R_{1,\lambda}(m, M; \delta, \gamma) := (1-\lambda) \int_m^{(1-\lambda)m + \lambda M} d(\phi(s) - \delta \ell(s)) + \lambda \int_{(1-\lambda)m + \lambda M}^M d(\gamma \ell(s) - \phi(s)).$$

Alternatively, we have

$$(2.10) \quad \phi(\lambda m + (1-\lambda)M) = (1-\lambda)\phi(m) + \lambda\phi(M) \\ + (M-m) [(1-\lambda)^2\delta - \lambda^2\gamma] + R_{2,\lambda}(m, M; \delta, \gamma),$$

where the remainder $R_{2,\lambda}(m, M; \delta, \gamma)$ is given by

$$(2.11) \quad R_{2,\lambda}(m, M; \delta, \gamma) := (1-\lambda) \int_m^{\lambda m + (1-\lambda)M} d(\phi(s) - \delta \ell(s)) \\ + \lambda \int_{\lambda m + (1-\lambda)M}^M d(\gamma \ell(s) - \phi(s)).$$

Remark 1. *Let ϕ be as in Lemma 2, then for any $\lambda \in \mathbb{R}$, $\delta, \gamma \in \mathbb{R}$ we have*

$$(2.12) \quad \phi\left(\frac{m+M}{2}\right) = (1-\lambda)\phi(m) + \lambda\phi(M) + \frac{1}{2}(M-m)[(1-\lambda)\delta - \lambda\gamma] \\ + R_\lambda(m, M; \delta, \gamma),$$

where the remainder $R_\lambda(m, M; \delta, \gamma)$ is given by

$$(2.13) \quad R_\lambda(m, M; \delta, \gamma) := (1 - \lambda) \int_m^{\frac{m+M}{2}} d(\phi(s) - \delta\ell(s)) \\ + \lambda \int_{\frac{m+M}{2}}^M d(\gamma\ell(s) - \phi(s)).$$

The case $\delta = \gamma = 0$ in (2.1) produces the following simple identities for each $x \in [m, M]$ and $\lambda \in \mathbb{R}$

$$(2.14) \quad \phi(x) = (1 - \lambda)\phi(m) + \lambda\phi(M) + R_\lambda(x, m, M),$$

where the remainder $R_\lambda(x, m, M)$ is given by

$$(2.15) \quad R_\lambda(x, m, M) := (1 - \lambda) \int_m^x d\phi(s) - \lambda \int_x^M d\phi(s).$$

We then have for each $x \in [m, M]$ that

$$(2.16) \quad \phi(x) = \frac{1}{M - m} [(M - x)\phi(m) + (x - m)\phi(M)] + U(x, m, M),$$

where

$$(2.17) \quad U(x, m, M) := \frac{M - x}{M - m} \int_m^x d\phi(s) - \frac{x - m}{M - m} \int_x^M d\phi(s)$$

and

$$(2.18) \quad \phi(x) = \frac{1}{M - m} [(x - m)\phi(m) + (M - x)\phi(M)] + V(x, m, M),$$

where

$$(2.19) \quad V(x, m, M) := \frac{x - m}{M - m} \int_m^x d\phi(s) - \frac{M - x}{M - m} \int_x^M d\phi(s).$$

We also have

$$(2.20) \quad \phi((1 - \lambda)m + \lambda M) = (1 - \lambda)\phi(m) + \lambda\phi(M) + U_\lambda(m, M),$$

where the remainder $U_\lambda(m, M)$ is given by

$$(2.21) \quad U_\lambda(m, M) := (1 - \lambda) \int_m^{(1-\lambda)m + \lambda M} d\phi(s) - \lambda \int_{(1-\lambda)m + \lambda M}^M d\phi(s)$$

and

$$(2.22) \quad \phi((1 - \lambda)M + \lambda m) = (1 - \lambda)\phi(m) + \lambda\phi(M) + V_\lambda(m, M),$$

where the remainder $V_\lambda(m, M)$ is given by

$$(2.23) \quad V_\lambda(m, M) := (1 - \lambda) \int_m^{(1-\lambda)M + \lambda m} d\phi(s) - \lambda \int_{(1-\lambda)M + \lambda m}^M d\phi(s).$$

Moreover, if we take in (2.14) $x = \frac{m+M}{2}$ then for each $\lambda \in \mathbb{R}$, we have

$$(2.24) \quad \phi\left(\frac{m+M}{2}\right) = (1 - \lambda)\phi(m) + \lambda\phi(M) + S_\lambda(m, M),$$

where the remainder $S_\lambda(m, M)$ is given by

$$(2.25) \quad S_\lambda(m, M) := (1 - \lambda) \int_m^{\frac{m+M}{2}} d\phi(s) - \lambda \int_{\frac{m+M}{2}}^M d\phi(s).$$

In particular, for $\lambda = \frac{1}{2}$ we have

$$(2.26) \quad \phi\left(\frac{m+M}{2}\right) = \frac{\phi(m) + \phi(M)}{2} + S(m, M),$$

where

$$(2.27) \quad S(m, M) := \frac{1}{2} \left(\int_m^{\frac{m+M}{2}} d\phi(s) - \int_{\frac{m+M}{2}}^M d\phi(s) \right).$$

The following estimate result holds:

Lemma 3. *Let $\phi : [m, M] \rightarrow \mathbb{R}$ be a function of bounded variation on $[m, M]$. Then for any $x \in [m, M]$ and $\lambda \in \mathbb{R}$, $\delta, \gamma \in \mathbb{R}$ we have*

$$(2.28) \quad \begin{aligned} & |(1-\lambda)\phi(m) + \lambda\phi(M) + (1-\lambda)(x-m)\delta - \lambda(M-x)\gamma - \phi(x)| \\ & \leq |1-\lambda| \bigvee_m^x (\phi - \delta\ell) + |\lambda| \bigvee_x^M (\gamma\ell - \phi) \\ & \leq \begin{cases} \max\{|1-\lambda|, |\lambda|\} \left(\bigvee_m^x (\phi - \delta\ell) + \bigvee_x^M (\gamma\ell - \phi) \right), \\ (|1-\lambda|^p + |\lambda|^p)^{1/p} \left(\left(\bigvee_m^x (\phi - \delta\ell) \right)^q + \left(\bigvee_x^M (\gamma\ell - \phi) \right)^q \right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ (|1-\lambda| + |\lambda|) \max \left\{ \bigvee_m^x (\phi - \delta\ell), \bigvee_x^M (\gamma\ell - \phi) \right\}. \end{cases} \end{aligned}$$

Proof. We use the fact that for $p : [\alpha, \beta] \rightarrow \mathbb{R}$ continuous and $v : [\alpha, \beta] \rightarrow \mathbb{R}$ of bounded variation the Riemann-Stieltjes integral $\int_\alpha^\beta p(t) dv(t)$ exists and

$$(2.29) \quad \left| \int_\alpha^\beta p(t) dv(t) \right| \leq \sup_{t \in [\alpha, \beta]} |p(t)| \bigvee_\alpha^\beta (v).$$

Using the identity (2.1) and the property (2.29) we have

$$\begin{aligned} & |(1-\lambda)\phi(m) + \lambda\phi(M) + (1-\lambda)(x-m)\delta - \lambda(M-x)\gamma - \phi(x)| \\ & = \left| (1-\lambda) \int_m^x d(\phi(s) - \delta\ell(s)) + \lambda \int_x^M d(\gamma\ell(s) - \phi(s)) \right| \end{aligned}$$

$$\begin{aligned}
& \leq |1 - \lambda| \left| \int_m^x d(\phi(s) - \delta\ell(s)) \right| + |\lambda| \left| \int_x^M d(\gamma\ell(s) - \phi(s)) \right| \\
& \leq |1 - \lambda| \bigvee_m^x (\phi - \delta\ell) + |\lambda| \bigvee_m^x (\gamma\ell - \phi) \\
& \leq \begin{cases} \max\{|1 - \lambda|, |\lambda|\} \left(\bigvee_m^x (\phi - \delta\ell) + \bigvee_m^x (\gamma\ell - \phi) \right), \\ (|1 - \lambda|^p + |\lambda|^p)^{1/p} \left(\left(\bigvee_m^x (\phi - \delta\ell) \right)^q + \left(\bigvee_m^x (\gamma\ell - \phi) \right)^q \right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ (|1 - \lambda| + |\lambda|) \max \left\{ \bigvee_m^x (\phi - \delta\ell), \bigvee_m^x (\gamma\ell - \phi) \right\}. \end{cases}
\end{aligned}$$

The last part is obvious by Hölder's inequality

$$cd + uv \leq \begin{cases} \max\{c, u\} (d + v) \\ (c^p + u^p)^{1/p} (d^q + v^q)^{1/q}, \quad p, q > 1, \frac{1}{p} + \frac{1}{q} = 1. \end{cases}$$

□

For any $x \in [m, M]$ and $\lambda \in \mathbb{R}$, $\delta \in \mathbb{R}$ we have

$$\begin{aligned}
(2.30) \quad & |(1 - \lambda)\phi(m) + \lambda\phi(M) + [x - (1 - \lambda)m - \lambda M]\delta - \phi(x)| \\
& \leq |1 - \lambda| \bigvee_m^x (\phi - \delta\ell) + |\lambda| \bigvee_x^M (\phi - \delta\ell) \\
& \leq \begin{cases} \max\{|1 - \lambda|, |\lambda|\} \bigvee_m^M (\phi - \delta\ell), \\ (|1 - \lambda|^p + |\lambda|^p)^{1/p} \left(\left(\bigvee_m^x (\phi - \delta\ell) \right)^q + \left(\bigvee_x^M (\phi - \delta\ell) \right)^q \right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ (|1 - \lambda| + |\lambda|) \max \left\{ \bigvee_m^x (\phi - \delta\ell), \bigvee_x^M (\phi - \delta\ell) \right\}. \end{cases}
\end{aligned}$$

Taking into (2.30) $\lambda \in [0, 1]$, then we get

$$\begin{aligned}
 (2.31) \quad & |(1-\lambda)\phi(m) + \lambda\phi(M) + [x - (1-\lambda)m - \lambda M]\delta - \phi(x)| \\
 & \leq (1-\lambda)\underset{m}{\overset{x}{\mathbb{V}}}(\phi - \delta\ell) + \lambda\underset{x}{\overset{M}{\mathbb{V}}}(\phi - \delta\ell) \\
 & \leq \begin{cases} \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \left(\underset{m}{\overset{M}{\mathbb{V}}}(\phi - \delta\ell)\right), \\ \left((1-\lambda)^p + \lambda^p\right)^{1/p} \left(\left(\underset{m}{\overset{x}{\mathbb{V}}}(\phi - \delta\ell)\right)^q + \left(\underset{x}{\overset{M}{\mathbb{V}}}(\phi - \delta\ell)\right)^q\right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \frac{1}{2} \left[\underset{m}{\overset{M}{\mathbb{V}}}(\phi - \delta\ell) + \left| \underset{m}{\overset{x}{\mathbb{V}}}(\phi - \delta\ell) - \underset{x}{\overset{M}{\mathbb{V}}}(\phi - \delta\ell) \right| \right]. \end{cases}
 \end{aligned}$$

Moreover, if we take in (2.31) $\delta = 0$, then we get

$$\begin{aligned}
 (2.32) \quad & |(1-\lambda)\phi(m) + \lambda\phi(M) - \phi(x)| \\
 & \leq (1-\lambda)\underset{m}{\overset{x}{\mathbb{V}}}(\phi) + \lambda\underset{x}{\overset{M}{\mathbb{V}}}(\phi) \\
 & \leq \begin{cases} \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \left(\underset{m}{\overset{M}{\mathbb{V}}}(\phi)\right), \\ \left((1-\lambda)^p + \lambda^p\right)^{1/p} \left(\left(\underset{m}{\overset{x}{\mathbb{V}}}(\phi)\right)^q + \left(\underset{x}{\overset{M}{\mathbb{V}}}(\phi)\right)^q\right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \frac{1}{2} \left[\underset{m}{\overset{M}{\mathbb{V}}}(\phi) + \left| \underset{m}{\overset{x}{\mathbb{V}}}(\phi) - \underset{x}{\overset{M}{\mathbb{V}}}(\phi) \right| \right]. \end{cases}
 \end{aligned}$$

If $x \in [m, M]$ and if we take $\lambda = \frac{x-m}{M-m}$ in (2.32), then we get

$$(2.33) \quad \left| \left(\frac{M-x}{M-m} \right) \phi(m) + \left(\frac{x-m}{M-m} \right) \phi(M) - \phi(x) \right|$$

$$\leq \left(\frac{M-x}{M-m} \right) \bigvee_m^x(\phi) + \left(\frac{x-m}{M-m} \right) \bigvee_x^M(\phi)$$

$$\leq \begin{cases} \left(\frac{1}{2} + \left| \frac{x-\frac{m+M}{2}}{M-m} \right| \right) \left(\bigvee_m^M(\phi) \right), \\ \left(\left(\frac{M-x}{M-m} \right)^p + \left(\frac{x-m}{M-m} \right)^p \right)^{1/p} \left(\left(\frac{\bigvee_m^x(\phi)}{M-m} \right)^q + \left(\frac{\bigvee_x^M(\phi)}{M-m} \right)^q \right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \frac{1}{2} \left[\bigvee_m^M(\phi) + \left| \bigvee_m^x(\phi) - \bigvee_x^M(\phi) \right| \right], \end{cases}$$

which was obtained in [11, Theorem 3.2].

For other related results, see [11] and [12].

Corollary 4. *Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is (Δ, δ) -Lipschitzian on $[m, M]$ for some $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$. Then*

$$(2.34) \quad \left| (1-\lambda)\phi(m) + \lambda\phi(M) + [x - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - \phi(x) \right|$$

$$\leq \frac{1}{2} (\Delta - \delta) [|1-\lambda|(x-m) + |\lambda|(M-x)]$$

for any $x \in [m, M]$ and $\lambda \in \mathbb{R}$.

Proof. We have by (2.30), for any $x \in [m, M]$ and $\lambda \in \mathbb{R}$, that

$$\left| (1-\lambda)\phi(m) + \lambda\phi(M) + [x - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - \phi(x) \right|$$

$$\leq |1-\lambda| \bigvee_m^x \left(\phi - \frac{\delta + \Delta}{2} \ell \right) + |\lambda| \bigvee_x^M \left(\phi - \frac{\delta + \Delta}{2} \ell \right)$$

$$\leq \frac{1}{2} |1-\lambda| (\Delta - \delta) (x-m) + \frac{1}{2} |\lambda| (\Delta - \delta) (M-x)$$

$$= \frac{1}{2} (\Delta - \delta) [|1-\lambda|(x-m) + |\lambda|(M-x)],$$

which proves (2.34). \square

Corollary 5. *Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is convex and $\phi_+(m), \phi_-(M)$ are finite, then*

$$(2.35) \quad \left| (1-\lambda)\phi(m) + \lambda\phi(M) + \frac{1}{2} [x - (1-\lambda)m - \lambda M] [\phi_+(m) + \phi_-(M)] - \phi(x) \right|$$

$$\leq \frac{1}{2} (\phi_-(M) - \phi_+(m)) [|1-\lambda|(x-m) + |\lambda|(M-x)]$$

for any $x \in [m, M]$ and $\lambda \in \mathbb{R}$.

It follows by Corollary 4 for $\delta = \phi_+(m)$ and $\Delta = \phi_-(M)$, since by the gradient inequality we have

$$\phi_+(m)(t-s) \leq \phi_+(s)(t-s) \leq \phi(t) - \phi(s) \leq \phi_-(t)(t-s) \leq \phi_-(M)(t-s)$$

for each $t, s \in (m, M)$ with $t > s$.
We have:

Corollary 6. *With the assumptions of Lemma 3 for the function ϕ , we have for any $\lambda \in [0, 1]$ that*

$$(2.36) \quad \begin{aligned} & |(1-\lambda)\phi(m) + \lambda\phi(M) + (1-\lambda)\lambda(M-m)(\delta - \gamma) \\ & \quad - \phi((1-\lambda)m + \lambda M)| \\ & \leq (1-\lambda) \bigvee_m^{(1-\lambda)m + \lambda M} (\phi - \delta\ell) + \lambda \bigvee_{(1-\lambda)m + \lambda M}^M (\gamma\ell - \phi) \\ & \leq \begin{cases} \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \left(\bigvee_m^{(1-\lambda)m + \lambda M} (\phi - \delta\ell) + \bigvee_{(1-\lambda)m + \lambda M}^M (\gamma\ell - \phi) \right), \\ ((1-\lambda)^p + \lambda^p)^{1/p} \\ \times \left(\left(\bigvee_m^{(1-\lambda)m + \lambda M} (\phi - \delta\ell) \right)^q + \left(\bigvee_{(1-\lambda)m + \lambda M}^M (\gamma\ell - \phi) \right)^q \right)^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \max \left\{ \bigvee_m^{(1-\lambda)m + \lambda M} (\phi - \delta\ell), \bigvee_{(1-\lambda)m + \lambda M}^M (\gamma\ell - \phi) \right\} \end{cases} \end{aligned}$$

for any $\delta, \gamma \in \mathbb{R}$.

In particular,

$$\begin{aligned}
(2.37) \quad & |(1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M)| \\
& \leq (1-\lambda) \bigvee_m^{(1-\lambda)m+\lambda M} (\phi - \delta\ell) + \lambda \bigvee_{(1-\lambda)m+\lambda M}^M (\phi - \delta\ell) \\
& \leq \begin{cases} \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \bigvee_m^M (\phi - \delta\ell), \\ \left((1-\lambda)^p + \lambda^p\right)^{1/p} \\ \times \left[\left(\bigvee_m^{(1-\lambda)m+\lambda M} (\phi - \delta\ell)\right)^q + \left(\bigvee_{(1-\lambda)m+\lambda M}^M (\phi - \delta\ell)\right)^q \right]^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \max \left\{ \bigvee_m^{(1-\lambda)m+\lambda M} (\phi - \delta\ell), \bigvee_{(1-\lambda)m+\lambda M}^M (\phi - \delta\ell) \right\}, \end{cases}
\end{aligned}$$

for any $\delta \in \mathbb{R}$.

We observe that, with the assumptions of Corollary 6 we have from (2.38) that

$$\begin{aligned}
(2.38) \quad & |(1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M)| \\
& \leq (1-\lambda) \bigvee_m^{(1-\lambda)m+\lambda M} (\phi) + \lambda \bigvee_{(1-\lambda)m+\lambda M}^M (\phi) \\
& \leq \begin{cases} \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \bigvee_m^M (\phi), \\ \left((1-\lambda)^p + \lambda^p\right)^{1/p} \left[\left(\bigvee_m^{(1-\lambda)m+\lambda M} (\phi)\right)^q + \left(\bigvee_{(1-\lambda)m+\lambda M}^M (\phi)\right)^q \right]^{1/q}, \\ p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \max \left\{ \bigvee_m^{(1-\lambda)m+\lambda M} (\phi), \bigvee_{(1-\lambda)m+\lambda M}^M (\phi) \right\}. \end{cases}
\end{aligned}$$

If ϕ is convex on $[m, M]$, then from (2.38) we get

$$\begin{aligned}
(2.39) \quad & 0 \leq (1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M) \\
& \leq (1-\lambda) \bigvee_m^{(1-\lambda)m+\lambda M} (\phi) + \lambda \bigvee_{(1-\lambda)m+\lambda M}^M (\phi) \\
& \leq \left(\frac{1}{2} + \left|\lambda - \frac{1}{2}\right|\right) \bigvee_m^M (\phi)
\end{aligned}$$

for any $\lambda \in [0, 1]$.

Also, if $\phi : [m, M] \rightarrow \mathbb{R}$ is (Δ, δ) -Lipschitzian on $[m, M]$ for some $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$, then by (2.34) we get

$$(2.40) \quad \begin{aligned} & |(1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M)| \\ & \leq (\Delta - \delta)(1-\lambda)\lambda(M-m) \end{aligned}$$

for any $\lambda \in [0, 1]$.

Moreover, if ϕ is convex on $[m, M]$, then by (2.35) we get

$$(2.41) \quad \begin{aligned} 0 & \leq (1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M) \\ & \leq (\phi_-(M) - \phi_+(m))(1-\lambda)\lambda(M-m) \\ & \leq \frac{1}{4}(\phi_-(M) - \phi_+(m))(M-m) \end{aligned}$$

for any $\lambda \in [0, 1]$.

Remark 2. *If there exists the constants $\delta, \Delta \in \mathbb{R}$ such that*

$$(2.42) \quad \bigvee_m^M \left(\phi - \frac{\delta + \Delta}{2} \ell \right) \leq \frac{1}{2} |\Delta - \delta| (M - m),$$

then by (2.30) for $x \in [m, M]$

$$(2.43) \quad \begin{aligned} & \left| (1-\lambda)\phi(m) + \lambda\phi(M) + [x - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - \phi(x) \right| \\ & \leq |1-\lambda| \bigvee_m^x \left(\phi - \frac{\delta + \Delta}{2} \ell \right) + |\lambda| \bigvee_x^M \left(\phi - \frac{\delta + \Delta}{2} \ell \right) \\ & \leq \frac{1}{2} |\Delta - \delta| \max\{|1-\lambda|, |\lambda|\} (M - m). \end{aligned}$$

In particular, if $\lambda \in [0, 1]$, then

$$(2.44) \quad \begin{aligned} & |(1-\lambda)\phi(m) + \lambda\phi(M) - \phi((1-\lambda)m + \lambda M)| \\ & \leq \frac{1}{2} |\Delta - \delta| \left(\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right) (M - m), \end{aligned}$$

giving that

$$(2.45) \quad \left| \frac{\phi(m) + \phi(M)}{2} - \phi\left(\frac{m+M}{2}\right) \right| \leq \frac{1}{4} |\Delta - \delta| (M - m).$$

We observe that if $\phi : [m, M] \rightarrow \mathbb{R}$ is a absolutely continuous function on $[m, M]$ then we have

$$\bigvee_m^M \left(\phi - \frac{\delta + \Delta}{2} \ell \right) \leq \int_m^M \left| \phi'(s) - \frac{\delta + \Delta}{2} \right| ds.$$

If ϕ satisfies the condition $k \leq \phi'(s) \leq K$, for a.e. $t \in I$ and for some real constants k, K , then we have that

$$\bigvee_m^M \left(\phi - \frac{k+K}{2} \ell \right) \leq \int_m^M \left| \phi'(s) - \frac{k+K}{2} \right| ds \leq \frac{1}{2} (K - k) (M - m).$$

This provides many examples of functions satisfying the condition (2.42).

3. INEQUALITIES FOR FUNCTIONALS

For a function $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ of bounded variation and $f : E \rightarrow [m, M]$, we define

$$\bigvee_m^f(\phi)(s) := \bigvee_m^{f(s)}(\phi) \text{ for } s \in E.$$

Theorem 2. *Let $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a function of bounded variation, $\delta, \gamma \in \mathbb{R}$ and $f : E \rightarrow [m, M]$ such that $\phi \circ f, f, \bigvee_m^f(\phi - \delta\ell), \bigvee_f^M(\gamma\ell - \phi) \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then*

$$(3.1) \quad |(1 - \lambda)\phi(m) + \lambda\phi(M) + (1 - \lambda)(A(f) - m)\delta - \lambda(M - A(f))\gamma - A(\phi \circ f)| \\ \leq |1 - \lambda|A\left(\bigvee_m^f(\phi - \delta\ell)\right) + |\lambda|A\left(\bigvee_f^M(\gamma\ell - \phi)\right)$$

for any $\lambda \in \mathbb{R}$,

In particular, if $\delta \in \mathbb{R}$, $\phi \circ f, f, \bigvee_m^f(\phi - \delta\ell) \in L$, then for any $\lambda \in \mathbb{R}$

$$(3.2) \quad |(1 - \lambda)\phi(m) + \lambda\phi(M) + [A(f) - (1 - \lambda)m - \lambda M]\delta - A(\phi \circ f)| \\ \leq |1 - \lambda|A\left(\bigvee_m^f(\phi - \delta\ell)\right) + |\lambda|A\left(\bigvee_f^M(\phi - \delta\ell)\right) \\ \leq \max\{|1 - \lambda|, |\lambda|\}\bigvee_m^M(\phi - \delta\ell).$$

Proof. We have from (2.28) in the order of L that

$$(3.3) \quad -\left(|1 - \lambda|\bigvee_m^f(\phi - \delta\ell) + |\lambda|\bigvee_f^M(\gamma\ell - \phi)\right) \\ \leq (1 - \lambda)\phi(m) + \lambda\phi(M) + (1 - \lambda)(f - m)\delta - \lambda(M - f)\gamma - \phi \circ f \\ \leq |1 - \lambda|\bigvee_m^f(\phi - \delta\ell) + |\lambda|\bigvee_f^M(\gamma\ell - \phi)$$

where $f : E \rightarrow [m, M]$ is such that $\phi \circ f, f, \bigvee_m^f(\phi) \in L$.

If we take the functional A in (3.3) and use its properties, we get the desired result (3.1).

We have

$$\begin{aligned}
& |1 - \lambda| A \left(\bigvee_m^f (\phi - \delta \ell) \right) + |\lambda| A \left(\bigvee_f^M (\phi - \delta \ell) \right) \\
& \leq \max \{ |1 - \lambda|, |\lambda| \} \left[A \left(\bigvee_m^f (\phi - \delta \ell) \right) + A \left(\bigvee_f^M (\phi - \delta \ell) \right) \right] \\
& = \max \{ |1 - \lambda|, |\lambda| \} \left[A \left(\bigvee_m^f (\phi - \delta \ell) + \bigvee_f^M (\phi - \delta \ell) \right) \right] \\
& = \max \{ |1 - \lambda|, |\lambda| \} \left[A \left(\bigvee_m^M (\phi - \delta \ell) \right) \right] \\
& = \max \{ |1 - \lambda|, |\lambda| \} \bigvee_m^M (\phi - \delta \ell)
\end{aligned}$$

and the inequality (3.2) is proved. \square

Corollary 7. *Let $\phi : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ be a function of bounded variation and $f : E \rightarrow [m, M]$ such that $\phi \circ f, f, \bigvee_m^f (\phi) \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then*

$$\begin{aligned}
(3.4) \quad & |(1 - \lambda) \phi(m) + \lambda \phi(M) - A(\phi \circ f)| \\
& \leq |1 - \lambda| A \left(\bigvee_m^f (\phi) \right) + |\lambda| A \left(\bigvee_f^M (\phi) \right) \leq \max \{ |1 - \lambda|, |\lambda| \} \bigvee_m^M (\phi),
\end{aligned}$$

for any $\lambda \in \mathbb{R}$.

If $\lambda \in [0, 1]$, then

$$\begin{aligned}
(3.5) \quad & |(1 - \lambda) \phi(m) + \lambda \phi(M) - A(\phi \circ f)| \\
& \leq (1 - \lambda) A \left(\bigvee_m^f (\phi) \right) + \lambda A \left(\bigvee_f^M (\phi) \right) \\
& \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \bigvee_m^M (\phi).
\end{aligned}$$

We have the following result:

Theorem 3. *Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is (Δ, δ) -Lipschitzian on $[m, M]$ for some $\delta, \Delta \in \mathbb{R}$ with $\Delta > \delta$. Let $f : E \rightarrow [m, M]$ such that $\phi \circ f, f \in L$. If*

$A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then

$$(3.6) \quad \left| (1-\lambda)\phi(m) + \lambda\phi(M) + [A(f) - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - A(\phi \circ f) \right| \\ \leq \frac{1}{2} (\Delta - \delta) [|1 - \lambda| (A(f) - m) + |\lambda| (M - A(f))] \\ \leq \frac{1}{2} (\Delta - \delta) \begin{cases} \max\{|1 - \lambda|, |\lambda|\} (M - m), \\ (|1 - \lambda|^q + |\lambda|^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ (|1 - \lambda| + |\lambda|) \left[\frac{1}{2} (M - m) + |A(f) - \frac{m+M}{2}| \right], \end{cases}$$

for any $\lambda \in \mathbb{R}$.

Proof. From the inequality (2.34) we have, for $f : E \rightarrow [m, M]$ such that $\phi \circ f$, $f \in L$ in the order of L , that

$$(3.7) \quad -\frac{1}{2} (\Delta - \delta) [|1 - \lambda| (f - m) + |\lambda| (M - f)] \\ \leq (1-\lambda)\phi(m) + \lambda\phi(M) + [f - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - \phi(f) \\ \leq \frac{1}{2} (\Delta - \delta) [|1 - \lambda| (f - m) + |\lambda| (M - f)]$$

for any $\lambda \in \mathbb{R}$.

If we take the functional A in (3.7) and use its properties, we get the first inequality in (3.6).

The last part is obvious by Hölder's inequality

$$cd + uv \leq \begin{cases} \max\{c, u\} (d + v), \\ (c^p + u^p)^{1/p} (d^q + v^q)^{1/q}, \quad p, q > 1, \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (c + d) + \frac{1}{2} |c - d| \right] (d + v), \\ (c^p + u^p)^{1/p} (d^q + v^q)^{1/q}, \quad p, q > 1, \frac{1}{p} + \frac{1}{q} = 1. \end{cases}$$

□

Remark 3. If $\lambda \in [0, 1]$, then the inequality (3.6) can be written simpler as

$$(3.8) \quad \left| (1-\lambda)\phi(m) + \lambda\phi(M) + [A(f) - (1-\lambda)m - \lambda M] \frac{\delta + \Delta}{2} - A(\phi \circ f) \right| \\ \leq \frac{1}{2} (\Delta - \delta) [(1-\lambda)(A(f) - m) + \lambda(M - A(f))] \\ \leq \frac{1}{2} (\Delta - \delta) \begin{cases} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (M - m), \\ ((1-\lambda)^q + \lambda^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (M - m) + |A(f) - \frac{m+M}{2}| \right]. \end{cases}$$

In particular, for $\lambda = \frac{1}{2}$ we get

$$(3.9) \quad \left| \frac{\phi(m) + \phi(M)}{2} + \left(A(f) - \frac{m+M}{2} \right) \frac{\delta + \Delta}{2} - A(\phi \circ f) \right| \\ \leq \frac{1}{4} (\Delta - \delta) (M - m).$$

Corollary 8. Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is convex and $\phi_+(m)$, $\phi_-(M)$ are finite. Let $f : E \rightarrow [m, M]$ such that $\phi \circ f$, $f \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then

$$(3.10) \quad \left| (1 - \lambda) \phi(m) + \lambda \phi(M) + \frac{1}{2} [A(f) - (1 - \lambda)m - \lambda M] \right. \\ \left. \times [\phi_+(m) + \phi_-(M)] - A(\phi \circ f) \right| \\ \leq \frac{1}{2} (\phi_-(M) - \phi_+(m)) [|1 - \lambda| (A(f) - m) + |\lambda| (M - A(f))] \\ \leq \frac{1}{2} (\phi_-(M) - \phi_+(m)) \\ \times \begin{cases} \max\{|1 - \lambda|, |\lambda|\} (M - m), \\ (|1 - \lambda|^q + |\lambda|^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ (|1 - \lambda| + |\lambda|) \left[\frac{1}{2} (M - m) + |A(f) - \frac{m+M}{2}| \right], \end{cases}$$

for any $\lambda \in \mathbb{R}$.

Remark 4. If $\lambda \in [0, 1]$, then the inequality (3.10) can be written simpler as

$$(3.11) \quad \left| (1 - \lambda) \phi(m) + \lambda \phi(M) + \frac{1}{2} [A(f) - (1 - \lambda)m - \lambda M] \right. \\ \left. \times [\phi_+(m) + \phi_-(M)] - A(\phi \circ f) \right| \\ \leq \frac{1}{2} (\phi_-(M) - \phi_+(m)) [(1 - \lambda) (A(f) - m) + \lambda (M - A(f))] \\ \leq \frac{1}{2} (\phi_-(M) - \phi_+(m)) \\ \times \begin{cases} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (M - m), \\ ((1 - \lambda)^q + \lambda^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (M - m) + |A(f) - \frac{m+M}{2}| \right], \end{cases}$$

and, in particular

$$(3.12) \quad \left| \frac{\phi(m) + \phi(M)}{2} + \left(A(f) - \frac{m+M}{2} \right) \frac{\phi_+(m) + \phi_-(M)}{2} - A(\phi \circ f) \right| \\ \leq \frac{1}{4} (\phi_-(M) - \phi_+(m)) (M - m).$$

4. SOME EXAMPLES

Assume that $\phi : [m, M] \rightarrow \mathbb{R}$ is a function of bounded variation and let $f : E \rightarrow [m, M]$ such that $\phi \circ f, f \in L$. If $A : L \rightarrow \mathbb{R}$ is an isotonic linear and normalised functional, then from (3.5), we have

$$(4.1) \quad |(1 - \lambda)\phi(m) + \lambda\phi(M) - A(\phi \circ f)| \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \bigvee_m^M(\phi)$$

for any $\lambda \in [0, 1]$. In particular,

$$(4.2) \quad \left| \frac{\phi(m) + \phi(M)}{2} - A(\phi \circ f) \right| \leq \frac{1}{2} \bigvee_m^M(\phi).$$

Assume that $[m, M] \subset (0, \infty)$. If we take in (4.1) the function $\phi(t) = \ln t$ and assume that $f : E \rightarrow [m, M]$, $f, \ln f \in L$, then we get

$$|(1 - \lambda)\ln m + \lambda\ln M - A(\ln f)| \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \ln \left(\frac{M}{m} \right)$$

and in particular

$$(4.3) \quad \left| \frac{\ln m + \ln M}{2} - A(\ln f) \right| \leq \frac{1}{2} \bigvee_m^M \ln \left(\frac{M}{m} \right).$$

Consider the function $g(t) = t \ln t$, $t > 0$. We have $g'(t) = \ln t + 1$, $t > 0$, which shows that the function g is strictly decreasing on $(0, e^{-1})$ and strictly increasing on (e^{-1}, ∞) . Therefore

$$\bigvee_m^M(g) = \begin{cases} \ln \left(\frac{m^m}{M^M} \right) & \text{if } 0 < m < M < e^{-1}, \\ \ln \left(m^m M^M \right) + 2e^{-1} & \text{if } 0 < m \leq e^{-1} \leq M < \infty, \\ \ln \left(\frac{M^M}{m^m} \right) & \text{if } e^{-1} < m < M < \infty. \end{cases}$$

If we take in (4.1) the function $\phi(t) = g(t) = t \ln t$ and assume that $f : E \rightarrow [m, M]$, $f, f \ln f \in L$, then we have

$$(4.4) \quad |(1 - \lambda)m \ln m + \lambda M \ln M - A(f \ln f)| \\ \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \begin{cases} \ln \left(\frac{m^m}{M^M} \right) & \text{if } 0 < m < M < e^{-1}, \\ \ln \left(m^m M^M \right) + 2e^{-1} & \text{if } 0 < m \leq e^{-1} \leq M < \infty, \\ \ln \left(\frac{M^M}{m^m} \right) & \text{if } e^{-1} < m < M < \infty. \end{cases}$$

for any $\lambda \in [0, 1]$. In particular,

$$(4.5) \quad \left| \frac{m \ln m + M \ln M}{2} - A(f \ln f) \right| \\ \leq \frac{1}{2} \begin{cases} \ln \left(\frac{m^m}{M^M} \right) & \text{if } 0 < m < M < e^{-1}, \\ \ln \left(m^m M^M \right) + 2e^{-1} & \text{if } 0 < m \leq e^{-1} \leq M < \infty, \\ \ln \left(\frac{M^M}{m^m} \right) & \text{if } e^{-1} < m < M < \infty. \end{cases}$$

Consider the function $h(t) = (t - 1) \ln t$, $t > 0$. We have $h'(t) = \ln t + 1 - \frac{1}{t}$ and $h''(t) = \frac{1}{t} + \frac{1}{t^2}$, $t > 0$, which shows that the function h is strictly decreasing on

$(0, 1)$, strictly increasing on $(1, \infty)$ and strictly convex on $(0, \infty)$. Therefore

$$\bigvee_m^M (h) = \begin{cases} \ln \left(\frac{m^{m-1}}{M^{M-1}} \right) & \text{if } 0 < m < M < 1, \\ \ln \left(m^{m-1} M^{M-1} \right) & \text{if } 0 < m \leq 1 \leq M < \infty, \\ \ln \left(\frac{M^{M-1}}{m^{m-1}} \right) & \text{if } 1 < m < M < \infty. \end{cases}$$

If we take in (4.1) the function $\phi(t) = h(t) = (t-1) \ln t$ and assume that $f : E \rightarrow [m, M]$, $f, (f-1) \ln f \in L$, then we have

$$(4.6) \quad \begin{aligned} & |(1-\lambda)(m-1) \ln m + \lambda(M-1) \ln M - A((f-1) \ln f)| \\ & \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \begin{cases} \ln \left(\frac{m^{m-1}}{M^{M-1}} \right) & \text{if } 0 < m < M < 1, \\ \ln \left(m^{m-1} M^{M-1} \right) & \text{if } 0 < m \leq 1 \leq M < \infty, \\ \ln \left(\frac{M^{M-1}}{m^{m-1}} \right) & \text{if } 1 < m < M < \infty \end{cases} \end{aligned}$$

for any $\lambda \in [0, 1]$. In particular,

$$(4.7) \quad \begin{aligned} & \left| \frac{(m-1) \ln m + (M-1) \ln M}{2} - A((f-1) \ln f) \right| \\ & \leq \frac{1}{2} \begin{cases} \ln \left(\frac{m^{m-1}}{M^{M-1}} \right) & \text{if } 0 < m < M < 1, \\ \ln \left(m^{m-1} M^{M-1} \right) & \text{if } 0 < m \leq 1 \leq M < \infty, \\ \ln \left(\frac{M^{M-1}}{m^{m-1}} \right) & \text{if } 1 < m < M < \infty. \end{cases} \end{aligned}$$

Moreover, if we write the inequalities (3.11) and (3.12) for the convex function $\phi(t) = -\ln t$, $t \in [m, M] \subset (0, \infty)$ and assume that $f : E \rightarrow [m, M]$, $f, \ln f \in L$, then we get

$$(4.8) \quad \begin{aligned} & \left| A(\ln f) - \ln(m^{1-\lambda} M^\lambda) - \frac{m+M}{2mM} [A(f) - (1-\lambda)m - \lambda M] \right| \\ & \leq \frac{M-m}{2mM} [(1-\lambda)(A(f) - m) + \lambda(M - A(f))] \\ & \leq \frac{M-m}{2mM} \begin{cases} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (M-m), \\ ((1-\lambda)^q + \lambda^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (M-m) + \left| A(f) - \frac{m+M}{2} \right| \right], \end{cases} \end{aligned}$$

for any $\lambda \in [0, 1]$, and, in particular

$$(4.9) \quad \left| A(\ln f) - \ln(\sqrt{mM}) - \frac{m+M}{2mM} \left(A(f) - \frac{m+M}{2} \right) \right| \leq \frac{(M-m)^2}{4mM}.$$

If we write the inequalities (3.11) and (3.12) for the convex function $\phi(t) = t \ln t$, $t \in [m, M] \subset (0, \infty)$ and assume that $f : E \rightarrow [m, M]$, $f, f \ln f \in L$, then we get

$$(4.10) \quad \left| \ln \left(m^{(1-\lambda)m} M^{\lambda M} \right) + \ln \left(e\sqrt{Mm} \right) [A(f) - (1-\lambda)m - \lambda M] - A(f \ln f) \right| \\ \leq \frac{1}{2} \ln \left(\frac{M}{m} \right) [(1-\lambda)(A(f) - m) + \lambda(M - A(f))] \\ \leq \frac{1}{2} \ln \left(\frac{M}{m} \right) \begin{cases} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (M - m), \\ ((1-\lambda)^q + \lambda^q)^{1/q} [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (M - m) + \left| A(f) - \frac{m+M}{2} \right| \right], \end{cases}$$

for any $\lambda \in [0, 1]$, and, in particular

$$(4.11) \quad \left| \ln \left(\sqrt{m^m M^M} \right) + \ln \left(e\sqrt{Mm} \right) \left(A(f) - \frac{m+M}{2} \right) - A(f \ln f) \right| \\ \leq \frac{1}{4} \ln \left(\frac{M}{m} \right) (M - m).$$

Consider the function $\phi : [m, M] \subset (0, \infty) \rightarrow (0, \infty)$, $\phi(t) = t^p$, $p \neq 0$. Then by (4.1) we have

$$(4.12) \quad |(1-\lambda)m^p + \lambda M^p - A(f^p)| \leq \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] \begin{cases} (M^p - m^p) \text{ if } p > 0, \\ \frac{M^{-p} - m^{-p}}{M^{-p}m^{-p}} \text{ if } p < 0 \end{cases}$$

for $\lambda \in [0, 1]$ and provided that $f : E \rightarrow [m, M]$, $f, f^p \in L$. In particular,

$$(4.13) \quad \left| \frac{m^p + M^p}{2} - A(f^p) \right| \leq \frac{1}{2} \begin{cases} (M^p - m^p) \text{ if } p > 0, \\ \frac{M^{-p} - m^{-p}}{M^{-p}m^{-p}} \text{ if } p < 0. \end{cases}$$

If we write the inequalities (3.11) and (3.12) for the convex function $\phi(t) = t^p$, $t \in [m, M] \subset (0, \infty)$, $p \in (-\infty, 0) \cup [1, \infty)$

$$(4.14) \quad \left| (1-\lambda)m^p + \lambda M^p + p \left(\frac{m^{p-1} + M^{p-1}}{2} \right) [A(f) - A_\lambda(m, M)] - A(f^p) \right| \\ \leq \frac{1}{2} p (M^{p-1} - m^{p-1}) [(1-\lambda)(A(f) - m) + \lambda(M - A(f))] \\ \leq \frac{1}{2} p (M^{p-1} - m^{p-1}) \begin{cases} \left[\frac{1}{2} + \left| \lambda - \frac{1}{2} \right| \right] (M - m), \\ ((1-\lambda)^q + \lambda^q)^{1/q} \\ \times [(A(f) - m)^p + (M - A(f))^p]^{1/p}, \\ \text{if } p, q > 1 \text{ with } \frac{1}{p} + \frac{1}{q} = 1, \\ \left[\frac{1}{2} (M - m) + \left| A(f) - \frac{m+M}{2} \right| \right], \end{cases}$$

where $A_\lambda(m, M) := (1 - \lambda)m + \lambda M$ is the weighted arithmetic mean, and, in particular

$$(4.15) \quad \left| \frac{m^p + M^p}{2} + \frac{1}{2}p(m^{p-1} + M^{p-1}) \left(A(f) - \frac{m + M}{2} \right) - A(f^p) \right| \\ \leq \frac{1}{4}p(M^{p-1} - m^{p-1})(M - m).$$

REFERENCES

- [1] D. Andrica and C. Badea, Grüss' inequality for positive linear functionals, *Periodica Math. Hung.*, **19** (1998), 155-167.
- [2] P. R. Beesack and J. E. Pečarić, On Jessen's inequality for convex functions, *J. Math. Anal. Appl.*, **110** (1985), 536-552.
- [3] S. S. Dragomir, A refinement of Hadamard's inequality for isotonic linear functionals, *Tamkang J. Math* (Taiwan), **24** (1992), 101-106.
- [4] S. S. Dragomir, On a reverse of Jessen's inequality for isotonic linear functionals, *J. Ineq. Pure & Appl. Math.*, **2**(3)(2001), Article 36.
- [5] S. S. Dragomir, Some inequalities for (m, M) -convex mappings and applications for the Csizsár Φ -divergence in information theory. *Math. J. Ibaraki Univ.* **33** (2001), 35-50.
- [6] S. S. Dragomir, On the Jessen's inequality for isotonic linear functionals, *Nonlinear Analysis Forum*, **7**(2)(2002), 139-151.
- [7] S. S. Dragomir, On the Lupaş-Beesack-Pečarić inequality for isotonic linear functionals, *Nonlinear Funct. Anal. & Appl.*, **7**(2)(2002), 285-298.
- [8] S. S. Dragomir, A generalisation of Cerone's identity and applications, *Oxford Tamsui J. Math. Sci.* **23**(2007), No. 1, 79-90. Preprint *RGMA Res. Rep. Coll.*, **8**(2) (2005), Art. 19. [ONLINE: <http://rgmia.vu.edu.au/v8n2.html>].
- [9] S. S. Dragomir, Approximating the Stieltjes integral of bounded functions and applications for three point quadrature rules, *Bull. Korean Math. Soc.* **44** (2007), no. 3, 523-536.
- [10] S. S. Dragomir, Bounds for the deviation of a function from the chord generated by its extremities. *Bull. Aust. Math. Soc.* **78** (2008), no. 2, 225-248.
- [11] S. S. Dragomir, Bounds for the deviation of a function from a generalised chord generated by its extremities with applications. *J. Inequal. Spec. Funct.* **3** (2012), no. 4, 67-76.
- [12] S. S. Dragomir, Inequalities for the Riemann-Stieltjes integral of under the chord functions with applications. *Acta Univ. Palack. Olomuc. Fac. Rerum Natur. Math.* **53** (2014), no. 1, 45-64.
- [13] S. S. Dragomir, Reverses of the Jensen inequality in terms of the first derivative and applications, *Acta Math. Vietnam.* **38** (2013), 429-446. Preprint *RGMA Res. Rep. Coll.* **14** (2011), Art. 71 [Online <http://rgmia.org/papers/v14/v14a71.pdf>].
- [14] S. S. Dragomir, Trapezoid type inequalities for isotonic functionals with applications, Preprint *RGMA Res. Rep. Coll.* **20** (2017), Art. 4. [Online <http://rgmia.org/papers/v20/v20a04.pdf>].
- [15] S. S. Dragomir and N. M. Ionescu, On some inequalities for convex-dominated functions, *L'Anal. Num. Théor. L'Approx.*, **19** (1) (1990), 21-27.
- [16] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMA Monographs, Victoria University, 2000. [Online http://rgmia.org/monographs/hermite_hadamard.html].
- [17] S. S. Dragomir, C. E. M. Pearce and J. E. Pečarić, On Jessen's and related inequalities for isotonic sublinear functionals, *Acta. Sci. Math.* (Szeged), **61** (1995), 373-382.
- [18] R. Jakić and J. Pečarić, New converses of the Jessen and Lah-Ribarić inequalities II. *J. Math. Inequal.* **7** (2013), no. 4, 617-645.
- [19] A. Lupaş, A generalisation of Hadamard's inequalities for convex functions, *Univ. Beograd. Elek. Fak.*, 577-579 (1976), 115-121.
- [20] P. Lah and M. Ribarić, Converse of Jensen's inequality for convex functions. *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. No.* **412-460**, 201-205
- [21] Z. Liu, Refinement of an inequality of Grüss type for the Riemann-Stieltjes integral, *Soochow J. Math.*, **30**(4) (2004), 483-489.

- [22] J. E. Pečarić, On Jessen's inequality for convex functions (III), *J. Math. Anal. Appl.*, **156** (1991), 231-239.
- [23] J. E. Pečarić and P. R. Beesack, On Jessen's inequality for convex functions (II), *J. Math. Anal. Appl.*, **156** (1991), 231-239.
- [24] J. E. Pečarić and S. S. Dragomir, A generalisation of Hadamard's inequality for isotonic linear functionals, *Radovi Mat. (Sarjevo)*, **7** (1991), 103-107.
- [25] J. E. Pečarić and I. Raša, On Jessen's inequality, *Acta. Sci. Math (Szeged)*, **56** (1992), 305-309.
- [26] G. Toader and S. S. Dragomir, Refinement of Jessen's inequality, *Demonstratio Mathematica*, **28** (1995), 329-334.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO Box 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: `sever.dragomir@vu.edu.au`

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA